Purely capacitive Circuit:
By KVL Vs = q/C
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Now since I = dq/dt, we arrive at our desired result:
I = Imcos(ωt) where Im = Vm/Xc (Xc is capacitive reactance = 1/ωC)
Current leads by π/2 over the voltage.

Power Discussion: In a very similar way wherein we derived that the average power over a purely inductive circuit is zero (previous lecture) we come to similar results here.
Pinst = Vsin(wt).Imcos(wt) = VIm/2 sin(2wt) 
Evidently the average over a time period of a sinusoidal function is zero, which yield <P>capacitive = 0
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